fiRE 3

= R B
fla)=—x+1 & UTHERIL /=,
(1) x,yvﬁb&ﬁ%ﬁkbfﬁbfﬁbwo

@l T = IZKIMF S ME DI DDRA Vb,

2 2% —x y& —yeUTHEIAHAEREDLS,
3) Q=zFMAHETDIZL,

% 2 5
1O FMH(INzx=0, y=2%RKRAT3L
{1—f(2)}10)= f10)— f(2)
f2)==1 &Y, 2/(0)=f0)+1

Cl:ofv f( )=
@ HMHINZx=y= ‘&1”27\’6‘62:
{1- /2 }f( )=

ZHEI)&Y £2) =—1E@T\ﬂD=O
® HM(INZ, x=1, y=—1%fLAT2BL
{1-A=-DjfA=D=A)— f(=1)
22T, QDR f(1)=0 &V
f=1P=2f(-1)=
f=1)=0, 2
—1<0 THEMNS, FHEIMEY A-1)> A0)
IHEQDRMNS, A-1)>12%850DT, A-1)=
@ FRE(IN, x=2, y=+2 ERATZL

{1—f<f}<f) £2)— F42)

1-/V2)/(V2)=-1-1(V2)
{fV2)-2/42)-1=0
fW2)=1+2
1<V/2 THEMS, FHEMMEY f1)>AV2)
IhEeQDERMNS, 0> fV/2) &k5DT, fV2)=1-2
@) gx)=fr)+c &V, flx)=g(x)—c ZRHE(TNRATEHL
{1—g<y>+6}{g<%>—6}=g<x)—g<y> ------ o

DIZHBWT, x% —x, y& —ykTdL



{1—g<—y>+6}{g<_—x>—C}=g<—x>—g<—y>

g(—x)=—g(x), gl—y)=—gly) &2l &V

{1+g(y>+c}{g<%>—c =—g(x)+g(y) - @

+@LY, A }:

D+@k Y 2(1+c){g<y> el =0

ZIZTC, £MHIEY flx) ZEBEE TR,

(FE B flo) PSS CH B LIE, x BMEDES %EE L >TH flx) DIED
HoRCEREDERDZ £ 211 5)

utﬁof,ﬁm%ﬁ&@&maeam@@,4§yw:o

£2TC, ¢c=-1

F/z, c=—-10DkX, gx)=f(x)—1ThH 5,

ZHE(INIBVT, y=—12RATB L
1= A=Difl=x)= flx)— f(=1)

1@DIERMNS f(—1)=27RDT
—{f(=x)}= flx)—2

NZAN

=



